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The Question Paper will be given in the form of a Question Booklet. There will be four
versions of Question Booklets with Question Booklet Alpha Code viz. A, B, C & D.

The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet
of the Question Booklet.

The Question Booklet Alpha Code allotted to you will be noted in your seating position in
the Examination Hall.

If you get a Question Booklet where the alpha code does not match to the allotted Alpha
Code in the seating position, please draw the attention of the Invigilator IMMEDIATELY.

The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If your
Questign Booklet is un-numbered, please get it replaced by new Question Booklet with same
Alpha Code.

The Question Booklet will be sealed at the middle of the right margin. Candidate should
not open the Question Booklet, until the indication is given to start answering.

Immediately after the commencement of the examination, the candidate should check that
the Question Booklet supplied to him/her contains all the 100 questions in serial order. The
Question Booklet does not have unprinted or torn or missing pages and if so he/she should
bring it to the notice of the Invigilator and get it replaced by a complete booklet with same Alpha
Code. This is most important.

Question Serial No. 1 to 60 are printed both in English and in Tamil. Doubts regarding
the meaning and translation of Question Serial No. 1 to 60 will be settled based on the
Questions in English.

Two blank pages are provided before the last page of this Question Paper for rough
work.

Please read carefully all the instructions on the reverse of the Answer Sheet before
marking your answers.

Each question is provided with four choices (A), (B), (C) and (D) having one correct answer.
Choose the correct answer and darken the bubble corresponding to the question number
using Blue or Black Ball Point Pen in the OMR Answer Sheet.

Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be
deducted. No negative mark for unattended questions.

No candidate will be allowed to leave the examination hall till the end of the session and
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure
that the Invigilator has verified all the entries in the Register Number Coding Sheet and
that the Invigilator has affixed his/her signature in the space provided.

Strict compliance of instructions is essential. Any malpractice or attempt to commit any
kind of malpractice in the Examination will result in the disqualification of the candidate.
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1. Which of the following statement is/are correct about the Anglo-Mysore Wars ?
i. Tipu got the help of the Dutch against the English.
ii. Tipu won the Third Anglo-Mysore War.
iii. Lord Wellesley led the English during the Fourth Anglo-Mysore War.
iv. Hyder Ali fought against the English during the First and Second Anglo-Mysore

Wars.
A) iandii B) iii and iv
C) Onlyii D) None of the above

2. Which among the following is/are related to Parsi Reform Movement ?
i. Kuka Movement.
ii. ‘Rast Goftar'.
iii. Namdhari Movement.
iv. Rahnumai Mazdayasnan Sabha.
A) iandii B) iii and iv C) iiiandi D) iiandiv
3. Which of the following option gives the correct chronological arrangement of the
historical events ?
i. Kallumala agitation.
ii. Formation of Sadhu Jana Paripalana Sangam.
iii. Establishment of the Cochin Pulaya Maha Sabha.
iv. Villuvandi Yatra.
A) v, i, iii, i B) i, iii, i, iv C) iii, iv, i, i D) i, ii, iii, iv
4. In what way was the Cochin Regulation XII of 1920, a step ahead of similar acts by

the Tiruvitamkureans before 1920 ?
Choose the correct option from the following statements.

i. Granted the right of maintenance.
ii. Prohibited polygamy.
iii. Legalised individual partition of Taravad.
iv. Recognised Sambandham as a legal marriage.
A) i, iii, iv B) i, iv, iii C) Only iv D) Only ii
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1. 9RGCovr-eow@T Cumiser upplw L6TaHLD FmphmFHailey 615 FRwmeTs) ?
i. Ym&HCwisensE 1B ITs G L dassmyiseler o salleowls QLppi.
ii. epasimmeugy m&Cevr-ei@i Cumiled Fiy Cleunp) Clupmmi.

iii. presisTaIgy 2 BFCevr-enio@it Cumier Gung emil Geucbeveaved)
9515 GovwiEenar UL LSS T,

V. (psed Lopmitb @)TessTL_meug) 2y B1%H Cevr-anio@h T Cumisaiesr CLng eansi 960
9 BIFCevwisepdh@ e1HamsLs Gumhl L mi.

A) iandii B) iii and iv
C) Only i D) None of the above
2. Lereupeuareupmled 61g LITIS Fi%hds QuSsSHIL_65T OlSTLTLjeL L) ?
I. @ST QubsLD.
ii. ‘grevr GamLisi.
iii. pmbgmi @uidsLb.
V. TaDEELD LDGVSILITAGTET FLIT.
A) iandii B) iiiand iv C) iiiandi D) iiand iv
3. WesteupLd alpLiumiseley 615 eugevmHm HlsLpeyseaflest Filwimest smeveullenF eIpLim eni_
ULPBIGHFH DS ?
i. SOYILLE FaTiFS.
il. Fngl @eT LIMLITEUGT FBISLD 2 (HeUTSHSHLD.
iii. Ca1dd Levw LO&T FeLIHW BMIeS6V.
V. aflebeyIauetTLy wWndSen .
A) v, i, iii, i B) i, iii, i, iv C) iii, v, ii, i D) i, ii, iii, iv
4. 1920- 941> e Qsré@er eum@wap Xl ais alssBed, 1920-d@ wpsr

Swadsmmigiuiseaier Cs Cureip Oewevsamaer alL_ e Ly CoCev @) BHSSH
LestaupLd Fmpmisanedppbg Flwnes alpLriLgamss Csib0ls B Esa L.

i. ugmofiiLy o Mewio eupBISLILIL L .
ii. LesTT LoewTLb HeoL OlFuiwiLL I g).
iii. gmomeum” 196t seflpLr LfeleveT FL L LIyienrésiuLl L g).
V. BISHMGHLILL L FIDLBSLD G FL L LILTeU S (HLOGRTLONS HYBIGHMSBLILIL L F.

A) i, i, iv B) i, iv, iii C) Only iv D) Only i
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5. Identify the false statement/statements among the following.
i. Ho Chi Minh established the Democratic Republic of Vietnam.
ii. Ngo Dinh Diem was the dictator of South Vietnam.
iii. Vietham war was a great success for the US.
iv. In 1954, French rule in Vietham came to an end.
A) i B) iv
C) iii D) All of the above

6. In the following table, Section A shows the name of the astronauts and Section B
shows the number of days they spent in space. Which one is the correct option ?

Section A Section B
i Frank Rubio 400 days

ii. Barry Wilmore | 450 days
iii. Sunita Williams | 650 days

iv. Peggy Whitson | 675 days
A) iii B) iv C) ii D) i

7. With reference to Kerala, consider the following statements.
a. Manjeswaram is the northern most river.
b. Kabani, Bhavani and Pamba are east flowing rivers.
Which of the statements given above are correct ?
A) Statement a is incorrect and Statement b is correct
B) Both Statements are correct

C) Statement a is correct and Statement b is incorrect

D) Both Statements are incorrect

8. On which of the following dates did the equinox occur ?
A) June 21 and December 23
B) March 21 and September 23
C) March 21 and July 23
D) June 21 and September 23
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5. LsTaI@euaioupBleh SaDIGT doDnISEOT IJGHLWITATLD HTGTa LD.
i. Camr & et aw prdlesT gerpmus alwl Brd pIleoL Blmjadlei.
ii. Q@ alwl Bridlest QusGpITS TTGHT 19657 L_LD @)(BHST.
iii. awi pmbd Cumi 9QwMssmaln@ e Cuu CeupPluns () bHS.
iv. 1954-@ev, aflwi’ prbdled LI6TErH: L& (LPLY Y& &HeUb Sl
A) i B) iv
C) iii D) All of the above
6. eraumid 9L L auenewruley, Liflay A allessrOleuafl afgisafler Cuwengub, 9May B

euiser alesroleuaiuiley s1fl6s5 prL salles eTevsenflensemwib ST B DS 615/
Fiflwimestg) ?

9flay A 9flay B
i | DgrEis em9Cuim 400 pr seir

il | umif aevGromt 450 prser

iii. | #elsm alevalwibav | 650 B e

iv. | Qs ol et 675 paL ser
A) iii B) iv C) i D) i

7. Gapermenauls QUITISSaIenT, LIGTI(HLD FnDMISHETS H6rGHIUL|BISET.
a. wepGFaveugdb auL_s@ CrréSHu m.
b. s9ed), Leuned)-Lbur Hipd@ CrTESHL LMD 2nI%H6T.
CuGov OFT(BHSHLILIL R6TaT FmDmIFHeileh 6Temeu FilwiTesTenal ?
A) spmia gaiprerg) wHpih Fpmi b Filwraig
B) @uei(d smpisesis siumenan
C) wpmya silwreig wpmid Fpm1 b saiprearg
D) @uaw® % pmis@sd seupraiene

8. WeteupLd 6165 CaFsafler QdGatndev (FLo )T6y FLb LIGED) GIDLIL L G 9
A) gg9etr 21 wopmitb 19 FLbLir 23
B) womid 21 wopmib &b 23
C) womid 21 womib ggdemev 23
D) eg9esr 21 wopmyid Q&b 23
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Which of the following statement is correct ?

A) Spring tides occur during new moon and full moon.

B) Neap tides occur during new moon and full moon.

C) During spring tide earth, moon and sun is in quadrature position.
D) Number of days in a lunar month is 31.

Which of the following remote sensing satellites is correctly paired ?
A) SPOT — Germany

B) GeoEye — France

C) Envisat — India

D) Landsat — USA

Identify the correct pair from the following.

A) Bhabar — Narrow zone at the foot of Himalaya characterized by rocky and boulder
terrain

B) Terai — Composed of older alluvium and largest part of the plain
C) Bhangar — Marshy plain located on South of the Bhabar
D) Khadar — Older alluvium deposit and is not fertile

The theme for “World Water Day 2025”

A) Ocean Preservation B) River Preservation

C) Glacier Preservation D) Wetland Preservation
Which strategy emphasised investment in heavy industry to achieve rapid
industrialisation in India during the Second Five-Year Plan ?

A) Mahalanobis Strategy B) Harrod-Domar Strategy
C) Garibi Hatao Strategy D) Rolling Plan Strategy

A set of free-market economic policy reforms imposed on India by the World Bank
and the IMF as a condition for a loan in 1991 is called

A) Investment Project Financing (IPF)

B) Structural Adjustment Programs (SAPs)
C) Special Drawing Rights (SDRs)

D) Rapid Financing Instrument (RFI)
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9. WesteupLd Fmpmisaiev 615 Filwmesig ?

A) wmeunens wpmitb (wpp Blevadest GLITE aUFbS HT6w YeVHGT GIDLI(HLD.
B) woreurens wopmith wpp Hlevadlesr Guing B Senevser eIpLI(pLb.
C) awsns smev yemevsafler Gung b, FHFTe9id @FMweid BIHSHT Blepevuied

2 _GITGITGY.

D) @w 681 w155 BT Safler ereressidbens 31.

10. Wetreupid ClFwmensd Caumersafleh 61g Filwrs Q) emenidbasLiLil (herers ?

11.

12.

13.

14.

A) SPOT - Glgrioef)
B) GeoEye — 9ynesrav
C) erawrallem’ — @p@wr

D) Govewri gm’ — ClnMsasm

L9esreupeuaToun e g Filwmer Gmgenis D6wL_WTATLD FT6e8sTeyLb.

A) umuir — @Lowibenev YLy ITISHeV 2 6TaT GHMIFN LOGHTL_GVLD, LITEOD LOHMILD
urenp Bleoligliimed @LpLitl (HeTers)

B) Ggmus — ueoipw euet_cd Loesst opmith FoGleuafluiesr ASLIGLIMW LGS

C) umsi — urufer ClenGs emLobEITaT FSHILIL] FlevLb

D) #1si — Lewpw eUeRTL b LI ey LODMILD QUGTLOTEGTSG)GV

“o s it Fewb 2025” G mest FHHLIO)LIMIHGT 6T6HTEHT ?

A) Qu@pmsL_ 6O LITGISTLILY B) 5% ungismiiy

C) welliumeom LITGISTLILY D) mpomes Blev Lingismliy

@ uevsTL_ma g @95 mesT(R) B L_HTevsSeb @)bFImaded adlengeumet O\sTLAeOLOWILO TSSO
YL Hes175% Clsmplevgiempuiled (LpFedL e auellymissih 2 S5 615/ ?

A) wapeGearmiiev 2 5% B) anGur’ -GL_mioir 2 %)

C) &M awr_nGour 2 55 D) Gunedm S 2 5

s wWHD Fhengll Clumnmerngrgs Osmetensuies Osm@riy 1991 b oy et
FL_eQISHM6T HlLbSeenLTs 2 s auB pnid IMF gi6d @BSwT 15s) aNFssL " 1
Fi8 (BB BIH6T LN6ETeUBLOTDI YeDLpSHSLILI(HF G TDET.

A) w38 ®S G b 55 (IPF)

B) s L ewwiiy sMelsuised i1 miser (SAPS)

C) @iy euewgey o Menioser (SDRS)

D) allewgeuner 5% smad (RFI)
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15.

16.

17.

18.

19.

20.

Among the following, which was not a major policy initiative undertaken as part of
the new economic reforms in India ?

A) Fiscal and monetary sector reforms
B) Industrial policy reforms
C) Rationalisation of exchange rate policy

D) Introduction of Goods and Service Tax

IAAP, IADP and HYVP are the major initiatives taken as part of which programme
in India ?

A) New Economic Policy B) Green Revolution
C) Demonetisation D) NITI Aayog

What are the long-term objectives of the Indian Five-Year Plans ?
A) Agricultural and Industrial Production

B) Control Inflation and Maintain Price Stability

C) High Rate of Growth, Social Justice and Self-Reliance

D) Balance Budget and Maintain Fiscal Discipline

What was the main theme of the Ninth meeting of the Governing Council of NITI
Aayog, held on 27" July 2024 ?

A) Skilling, MSMEs and Women Empowerment
B) Establishing Cooperative Federalism

C) Emerging from the COVID-19 Pandemic

D) Viksit Bharat @ 2047

Who is responsible for appointing the Inter-State Council in India ?
A) The President of India B) The Prime Minister
C) The Union Cabinet D) The Chief Justice of India

Which Constitutional Amendment of the Constitution of India restricted the size of
the Council of Ministers to 15% of the total strength of the Lok Sabha or the State
Legislative Assembly ?

A) 73 Amendment B) 86 Amendment
C) 61 Amendment D) 91 Amendment
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Lesteupeuataupmled, @BFwralled LGw Clnmmertsmy Gi%) wdsBISaNeT e LGS IWITs
Cop Qs mereriiLil L @@ Lpserenls OFmeTends LHWNF 6156606

A) B8 wppib LeTalued Simp FiBBSSmIS6T

B) Gsmflevgieop Csmerens Fi%) b5 mise6T

C) wmnalfss Csreramsmw LGsshley ClFiised

D) QumruL et wopmitb Ceneu auflewws oM LpSLILIBSSIS

IAAP, IADP, HYVP g @weveu QpFuwmailey 61685 F L BT @(h LIGHWTH
T(HSSLILIL L (LpSFBW (LpwHFS6IT ?

A) ySw Qurmperismgs GClsmerens B) usewls gl &

C) wemro@idipiiy D) 5% < Gwnd

@bBw eobs51eETH) FLL_BISeleT HewTL %mev GbTSHBISET 6TCHGT ?

A) aleusmuid wpmitb ClsTMPevgieon 2 HLISS

B) uewalsssamssd s RLILIGSSHIS® wPmih allewew Bleevsd Fetenoewil] LIFTLofES6

C) @8s euaridd alFsLb, FeLps HP) LoPMILD FWIFTITL

D) w Qg ewr FoBleweviiti(RdsIFe HMID B @pdsSeansLs LIFTLDMES60
9o 27,2024 gyeiimy pevL_GlLmm BlF) o, CuimdFet Flireunsd @ Lpadlest QeSS
Il LSBT (LpSFW HHLIC)LIMTIHGT 6TGHGHT ?

A) @weir Cuobin®, MSMES wopmith Cuiessiser S smiLoafssed

B) sl ®wey gl L m Sevw Blmiesed

C) Gsmal -19 OsmpmiCrmuieS) Bl L56TH60

D) a946d5 Limps@ 2047

@BGwralled wrhlevsiseErsd Qe Cuwmes seajcrHanev FwbHILSDH@ wrr
Quimmyiiny 2

A) QBFw @eTTH LS B) s
C) wsHw oyewivdFgemau D) @psw s F5LIS
@BFw TFWeLOLILNGT 6155 YTFWELOLILIS F(hSHLD, OLOFFTHET & (LpaJesT

DIATERU LOEFATERU VeS| oMY FL L oSS et Qongg o miLiferisafey 15%
U5d S HLILBSH WG ?

A) 73-a1g B®S5LD B) 86-aug S mssLb
C) 61-ag HBssLD D) 91-eug1 @@55LD



60/25 - T

21. Consider the following provisions applicable when the office of the President of India
falls vacant.

1. The Vice President assumes the responsibilities and functions of the
President.

2. If the offices of both the President and the Vice President fall vacant, the Chief
Justice of India discharges the duties of the President.

3. In the absence of Chief Justice of India, the senior most judge of the Supreme
Court available acts as President until a new President is elected.

4. Parliament enacted the President (Discharge of function) Act, 1969 to address
such vacancies.

Which of the statements given above is/are correct ?
A) 1,2and 3
B) 1,2and 4
C) 1,3and 4
D) All the above are correct
22. Consider the following statements regarding the duties of the Attorney General of

India.

1. Advises the Government of India on legal matters referred to the Attorney General
of India.

2. Attorney General has the right to audience in all courts in the territory of India.

3. The Attorney General has the right to speak in the proceedings of both the Lok Sabha
and the Rajya Sabha.

4. The Attorney General has the right to vote in both Houses of Parliament.
Which of the statements given above is/are correct ?

A) 1,2and 3

B) 1,2and 4

C) 1,3and 4

D) All the above are correct

23. Inwhich year was the Central Vigilance Commission established by the Government
of India ?

A) 1961 B) 1964 C) 1967 D) 1971
A -10-
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21. @QBHw @emPuP) Lsal srellwungd Cung ClLTBESSdm I w LleTeu kb ol semard
S QUG U BIFHGIT.

1. GUuwWrss sewevaller QLTmLILsean b ClFWOLITHSOTULLD &)e5 6w
G WIHS ST eIDmIs0lETeTSH DT,

2. GUWIFHS F®aT LOHMILD FIHERTS LY LTFHS SeVaIT @)HemeT L%ails@pLb
s1eoWns Q) (BhSTev, QB Seevenis BT &L WTFHS Seevatet

SL_ewLosemard QF G .

3. QBHws Fdewmw FFLUG Qs Bloeuiled, LYW GLYWTHS Feald
Caib0sHSasLILBLL ey, 2&F BFonSSHer epss BFHUFCW &g wisd

SV ITHEE ClFwevLIBHT.

4. 9ssmHw STOINL_BIS®ET Flouid® ClFiiagnsns, pr_mepweipid 1969 b
YWT(H) G WIHS SdevauT (Lenflsanar HlenpCaipmiFev) FL L deng Quipplii).

GG OFTBHSHLILIL R6TaT FmDmISHelch 615 FMwimesg) ?

A) 1,2and 3

B) 1,2and 4

C) 1,3and 4

D) All the above are correct

22. @BFw Iy L el O\ggesgedlesr a6t GG mL_iLimest LN6TaUBLD FoDMISE TS
F6u 6T IS GIT.

1. @QBFw < 1L el Clgestgad@ LMbgieIssliL@b F_allapwBisealcy )b w
9IS E Y CVTFNGT ULPEIGHFDTIT.

2. QpFwuLs 1970555560 2 6itar YwesidGl BB IoeTDEIS D allFTIenesT FL_%5
9L L_riesf) Qlenestgapid@ o Mevio o ewr(h.

3. Govrd FuT LoHMILD TASW FLIT @Q)T6UTLYGHT FL_aUlg bendhsanapitb CLiFeusmH @ 9L L el
Oleetaad@ 2 Meoin 2 er(h.

4. 9”1 el QleesToayI% @ BT TEFLOGIDSDGT @) e ausaflayitb aunsHefd@Lb o MeoLo
2 _6uor(h).

GG O&T(h&SLILIL R6Tar FapmiFalle 61% FAlwimesig) ?
A) 1,2and 3

B) 1,2and 4

C) 1,3and 4

D) All the above are correct

23. QBDW TFTG LDSGDHIL 26TLpGY FEUTHTESSILIL| Y eNGHTILILD 6ThHS e8TLg 6V BIMIGLILIL L G ?
A) 1961 B) 1964 C) 1967 D) 1971

A -11-
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24.

25.

26.

27.

28.

Which session of the Indian Parliament usually takes place between July and
September ?

A) Budget Session B) Monsoon Session
C) Winter Session D) Joint Session

Who is the author of the famous book, “Founding Mothers of the Indian Republic :
Gender Politics of the Framing of the Constitution” ?

A) Rajni Kothari B) Paul R. Brass C) Achyut Chetan D) Arun Shourie

Consider the following statements regarding Prime Minister’s Office (PMO).
1. Prime Minister’s Office is a line agency.
2. PMO came into existence in 1947.
3. It was called the Prime Minister’'s Secretariat (PMS) until June 1977.
4.

Prime Minister's Office assists the Prime Minister in his overall responsibilities as
Head of the Government.

Which of the statements given above is/are correct ?
A) 1,2and 3 B) 2,3and 4
C) 1,3and 4 D) All the above are correct

Which among the following principles of natural justice are emphasized in the context
of e-governance ?

|. Encouraging unilateral administrative decisions to streamline governance.
Il. Strengthening transparency and accountability in government processes.

[ll. Enhancing responsiveness and participation to ensure equitable governance.

IV. Limiting grievance mechanisms to improve decision-making efficiency.
A) Only I B) Only Il and Il
C) Only IV D) All the above (I, Il, Ill and 1V)

Which of the following socio-demographic trends is/are most likely to increase the
overall vulnerability of human population to various risks and hazards ?

|. Rapid urbanization

II. Enhanced disaster awareness and preparedness
[ll. Decentralized governance systems

IV. Population growth
A) Only | and IV B) Only |
C) Only land 11l D) Only IV

-12-
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Q@BFW BIL_TELOGIDSHHT 61hF Loia ClLngeuns gdenev wHmILD O\FL I Lt
LTS EIS@F5%E Qe _ulleh pewr_O)LimyLb 2

A) L Qe ey B) wenpsdsmev 9jioiay

C) @afismew 9joiey D) & ® <niey

“o%0lLIGTGTL 19 I DG TeV o'olt & @QBFwert MLL1eld @ Cl@er i LITeSlg e po%Ll
&) SLmiOBI o%lt § s TRevIgWFeT 6Tep LSLPOLPDD LSSHSD e G Mwii

wimm9o

A) glesfl Casnsgmfl  B) wmev R. gmev C) 9ydad Cager D) ymever Cagmrii)

oswi geeuevsd (PMO)QsrLiuiner 96teupd Mlsensseard %ees|mIseir.
1. YgsLoi YaeuesEd @b aIeTLbLIT (LpEHauUT BlmIeEsTLD.
2. Ygsi geeuewsd 1947 @) Bl (Lbewps @ aUbSS-
3. Qa1 g39er 1977 euewy Lusioir GFwevsib (PMS) ereirny yewpdsiiu L g).
4. ISLDT YNIISLD I TFTEISS SOVUTTS LITSLoMes gL HOongs OlLmmyLiLjsaieh
AUBSG 2 50| FDGI-
CoGov OFT(RSELILIL HeTar WEeS5Hallcy 61g FAWTeg ?
A) 1,2and 3 B) 2,3and 4
C) 1,3and 4 D) All the above are correct
sarabLGensullesr Lestareniuicy Lietoupd Quipens HEEHulles Clsmerenssaflch 615
eSS LIL QS DS
l. Hicursgens CBHILILIRSS @@ SLILILF Blieuns (LY eysenar 261d@alldse.
Il. wypgmms CFwedpempsaie GleuallliLienL_dgetento LoHmid OLIMMILIL|essTIen 6
USILILI(HSSIS 6D
. #Fowomes Bicunsdens 2 G ClFiicusHsTs LIFevald@Lb Fettenio LOHMILD
umIGasmenrs GuotbLi(hdHIS6

V. @y Oai®@s@b ClFwsd@penest CuobLbss G Sidb@Ld aulLpepsenan
QuLb Ll (hHe»

A) Only I B) Only Il and Il

C) Only IV D) All the above (I, Il, Il and 1V)
LiestaumLb Ferps-Ljafludwed CLndh@sated 615 LIVGCUD Y LISSI%HEhdE LSS LDSHE6T
g rensuilest L KH0Owrss LTHLiewL HYFSMEE 4GS aumiiLiLjeTeTs ?

l. alewgaunes B&ILOWILDTESHGD

Il. Guwbu®@ssriul L. Cullii aflflliyentiey wHmb Swmiklenev

. wpeuewndsiiu 1L Blieuns 9eoioliL%er

IV. wéser Osmens aueriss
A) Only [ and IV B) Only |

C) Only I and 1l D) Only IV
-13-
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29. The formulation of which Act is mentioned as providing the initial impetus for the
concept of state-provided employment as a legal right ?

|. The National Rural Employment Guarantee Act.
[I. The Public Works Programme Act.
[ll. The Maharashtra Employment Guarantee Act.

IV. The Food for Work Programme Act.
A) Only | and IV B) Only I and Il
C) Only | D) Only Il

30. Which among the following is the primary purpose of Article 142 of the Indian
Constitution ?

[. To limit the Supreme Court’s power to cases explicitly defined by existing statutes.

Il. To empower the Supreme Court to ensure complete justice even when statutory
laws are insufficient.

[ll. To allow the legislature to overrule orders passed by the Supreme Court in
matters of justice.

IV. To provide a mechanism for the Supreme Court to act solely within its executive
and legislative roles.

A) Only I and Il B) Only I and IV
C) Only li D) All the above (I, II, Il and IV)

31. Underthe Reverse Mortgage Scheme, what do senior citizen homeowners mortgage
to financial institutions ?

|. Their savings accounts
[l. Their movable assets
[ll. Their property
IV. Their future income
A) Only Il B) Only | C) Only I and Il D) All the above
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29. & eupm@b CouemeveumiiliL) @b FL L LILie 2 Mlenip 6TeID H(HbH%E YILbL

2 5CousFaG AULPBIGASTS 6ThSF FL L SHGT 2 (Heumdsd GPIIN L1’ (hereng) ?

l. Cs9w Fgmoliyp CauemeveurditiLy o SFIaITsd FL L Lb.

Il. Qungiuesils @1 & "1 1b.

. wsmprayg pm Coueweveumdiliny 2 SFSraunsd FL L Lb.
IV. CGouemevdsmer o ewioysd P L & FL L _Lb.

A) Only | and IV B) Only I and Il

C) Only | D) Only 1l

30. Wereumpeuataupmled @B w yrFlwevenioriiest Lifey 142 @6t (psettenio GprdsLb
15 2
l. awaarCGor o drer #L° L_migermed GleuallliLienL wns auegumieHSLii’

ULPSHGHF@hS G 2. FF BIHLOHTDSD6HT S %HTTSmS L HLILIBSSHIS.

. # tiyien s Lmiger Gungionesigsns @)evevralill L meIh (Lp(LHEOLOWITET FEHeniL
2 B Gleiu 2 &5 BHLOHTDSD D& ADHTILD eflLiLig).

. 5% aflepwmiselley 2 &5 E@ocsipid LIDLI95F 2 SFT0 ST FL L LDGIDLD TS5
OFuIw YeIbFSH60.

IV. o 5 5@ ioesinib et Blieuns opmitb FL L LoGHIDLI LIcwl%ehd%@er oL (hGLo
QFwebLIL @h ULS(LPEIDEW GULPBEISHSH6D.

A) Only I and Il B) Only I and IV
C) Only Il D) All the above (I, II, Il and IV)
31. swewBLp 9L wrerd S L _SFer Gip, afl" B 2 MeownerTiSerT&Iw eLpsd Ly oSS 6T
BB BlmIeIGsTEIS @5 6T 9L _LOTGTLD 6®6eUEEHD TG ?
l. wyeuisefesr CFLOLILIS &ewTd @56
Il. wyeuisaier oeaub OFndgisHer
. yeuisaier ClFngs

V. <euisefer 619)isme eu(BLOTGTLD

A) Only Ill B) Only | C) Onlylandlll D) All the above
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32. Which of the following is the principal gas contribute to green house effect ?

33.

34.

35.

36.

37.

|. Methane (CH,)
. Nitrous Oxide (N,O)
ll. Carbon Dioxide (CO,)

IV. Ozone (O,)
A) Only | B) Only llland IV C) Only lli D) All the above

Which part of the brain controls basic functions such as breathing and heart rate ?
A) Cerebellum B) Cerebrum
C) Medulla oblongata D) Hypothalamus

Which Vitamin is necessary for the synthesis of collagen, a protein important for skin,
bones and connective tissue ?

A) Vitamin — A B) Vitamin—-C
C) Vitamin —E D) Vitamin — K

Which of the following disease is/are not caused by a virus ?
i. Influenza
ii. Tuberculosis
iii. Measles
iv. Dengue fever
A) Only ii B) Only ii and iii
C) Onlyiandii D) Onlyiandiv

What is the primary cause of Chronic Obstructive Pulmonary Disease (COPD) ?
A) Bacterial infection B) Viral infection
C) High altitude D) Smoking

Which initiative is aimed at addressing postpartum depression among mothers of
Kerala ?

A) Bhoomika B) AAWAZ Scheme
C) Healthy Kids D) Amma Manasu
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Lereupauataippled 618 LiFelp @evev allenare s LBISafld@D (LpHFw e ?
l. 158Ggeir (CH,)
Il. enpgev ysbeana® (N,O)
. smiuer e ysbeama® (CO,)
IV. gGsgmair (O,)
A) Only | B) Only llland IV C) Only lli D) All the above
epearuilest eThsLl LGS HeunsFdb wPpmitb @Qswd gy Cumein g liLen
QrwebLTHF®ars s (HLILI(BSSH B DS ?
A) mepevar B) Gumepenar
C) Qu®mevevr riGarmmiGasL L D) ewamiiGungevmipav
Gsmev, 61eYILDLS6T LoPMILD (Q)eOGHILIL] HF:SH@HE G (LSBTGS LiTsLomest G)smevnggesfles
OBM1&LILSG 6Ths euL L OGS euFwiLb ?
A) e _1her— A B) eweur r her —C
C) eeul L 1hlesr — E D) emeur’r 1hesr— K
L9esteupd Crmiiselley 6154 aUIeVmTey GIHLIL M| ?
i. @)eiro’LIcarmwictTa T
ii. s1FGrmu
iii. &1 1bewip

iv. QLB smigsev

A) Only i B) Only ii and iii

C) Onlyiandii D) Onlyiandiv

paeTLl L gev Liyd@hw penguiged Crmis (COPD)gsmest (Lpseitenind &mgestib
GTGOTGUT ?

A) ungieflwr CsamHm B) eweugev Glsammy

C) @w%s 2 wpyib D) yes9y e

Gsger gmiiomiseienr_Gu sl iICLDMISE@ LnsTes LeardGamiene FlouisS CFuicues
Crrésnsd GClasmenr (Lhwn§) 615 2

A) ydsm B) wyeumev Hi b
C) Qanasd & v D) wybiom oews
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38.

39.

40.

41.

42.

43.

44.

A travelling wave is sent along a string by oscillating one of its ends. If the frequency
of oscillation is increased then the

A) Speed of the wave remains constant but wavelength increases
B) Speed of the wave remains constant but wavelength decreases
C) Speed and wavelength of the wave remain the same

D) Speed of the wave increases but wavelength decreases

If v_ is the escape velocity of an object from the surface of the Earth, then what is
the escape velocity of that object from the surface of a planet which is four times as
massive as Earth and has the same radius ?

A) 2v, B) 4v, C) av, D) v

e

Which of the following is not a characteristic of the photoelectric effect ?

A) Thereis no time interval between the arrival of light at metal surface and the emission
of photoelectrons

B) The kinetic energy of ejected electrons is proportional to the intensity of incident
light

C) The number of electrons ejected is proportional to the intensity of incident light

D) Every photosensitive material has a minimum cutoff frequency of incident radiation,
known as the threshold frequency

Name the satellite launched by ISRO in its 100" mission using GSLV-F 15 Launching
Vehicle on 29 January 2025.

A) NVS-02 B) Proba-3 C) EOS-08 D) DS-SAR

The huge amount of energy formed in the sun and stars by nuclear fusion reaction.
The gas formed by the nuclear fusion reaction in sun is

A) Hydrogen B) Xenon
C) Neon D) Helium

The chemical name of Baking soda and Washing soda are respectively
A) Sodium carbonate and Sodium bicarbonate

B) Sodium bicarbonate and Sodium carbonate

C) Sodium bicarbonate and Calcium carbonate

D) Sodium carbonate and Calcium carbonate

Which one of the following compound is not a mineral of iron ?

A) Haematite B) Magnetite C) Malachite D) Siderite
-18-
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38. @@ LweflEGHLD Y6 YBHEHT (LPdTHaTc) @PETND 26TFVT(HGUSET LPGVLD G (b

39.

40.

41.

42.

43.

44,

FISF T u s e ILtILBREDEI. AHMeVey HBT0eUeT P HMSFT6D, SjemeVulesT
A) Geousib oaproed @)(hEH@GLD YeTTeD YMBATLD 5% MbE DS

B) wiemeuilesr Gousib onprioed @)mb@HLb YeTTed YemeBHard &S DS

C) wewevulleir Gousib opmtb yeevbertd yriLig G @)mdb@Lb

D) wemevuilesr Goustd HFHMEHDEH Y eTTed YOBHATD HDEH DS

Lybluflest GopLgiiied Q) mwbsl e Glummeiss sL19% @ Gausid V., e1eipred, Ljbleou

ol pre@ i mi@g ufugrseyb 0% i Glsme_gr1sa b )BEHGHLD 63
Gamaflesr CopLgliied @ wis psL Clummeler sLl6@w Ceusbib 6166 2

A) 2v, B) 4v, C) v2v, D) v,

Leireupeuataupmled 61% aaflblest alenarallesr ApLiwievr) jevev ?

A) 2 Govrs CopLigtiied gaf aumeusH@GLd @af eTevdL grerseaflesr o LOLpe s @Lb
Qe Cw Cpy @enL_Gleuat @evemev

B) QeualCupmiiul L etevdL grciigefesr Qudss ynmed eafuler $alisSn @
QGG TFTILOMG LD

C) QeauaflCuppliu@Lb etevd” greisefler ereessiisans, allipb gafluller SallrssnE
QNGBS TFTILOTG LD

D) @aiGleunm gafldGaidseamsts Qunmpend allipd sFiafsfer GeappsLLlF eul” (B
2B T6leuerencwid Osresst(hereng, Qg OFML_ds 5)T6leuessT 6TesTLILI(HLD
aereuf 29, 2025 ety GSLV-F 15 eroysevseans s Lwesih$s ISRO geg 100615

LwesS e erauliLl L GFwpenssCsmaflesr CLweyd GPILIIL_ayLb.

A) NVS-02 B) Proba-3 C) EOS-08 D) DS-SAR
IYeWSHHH Qemewra) allewerwimed Mwelled B FsGrmisefleyd LHsI6)LMuw
arallewrest YOmed 2 (HaurGb. FGlwefled 9emIbs QeanTe alew el TeD
o (hUTEHLD GUmiLy

A) emamL” ggeir B) Ogerresr

C) Buwmest D) anfeSluiib

Cus&m Cemm pmitb Foweneu CFm_mailesr Cou@uwied OLiwiser wpenpGws

A) Gemgunbd smiuGes” wpmib CFmguid eorismiGesre”

B) Gemguib ewusmiuiGer wpmib CFmquih smitiGesrt”

C) Gomyguwib ewusmiGer’ opmitb srevFwitd & Geore

D) Gemguib smiuGerl’ opmith srev@uwitd & Geort

LereupLd Caivmisaileh 618 @)HLbLI6HT Hesflod 9jcvev

A) Gamiomewr L B) Guwserenr_ .  C) wevrdenar D) ewaL_ewgL
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45. Which among the following is the correct set of most abundant metal and non-metal
in human body ?

A) Calcium and Oxygen B) Calcium and Phosphorous
C) Iron and Phosphorous D) Calcium and Carbon

46. Which of the following statements are correct about Olympics medals won by India ?
i. Field Hockey was the first Olympic sport in which India won a gold medal.
ii. In 1928 India won its first Olympic gold medal.

iii. Abhinav Bindra won the first individual of Olympic gold medal for independent India
at the London Olympics in 2012.

iv. Karnam Malleswari was the first Indian woman won a bronze medal in the 2000
Sydney Olympics.

A) Only i, ii and iii B) Onlyi,iiandiv C) Onlyi,iiiandiv D) All of the above

47. Match the following writers with their pen names.

a. George Varghese i. Premji

b. M. P. Bhattathiripad ii. Vilasini

c. P. C. Kuttikrishnan iii. Kakkanadan

d. M. K. Menon iv. Urub

A) a—iv,b—iii,c—ii,d—i B) a—ii,b—i,c—iv,d—ii
C) a—iii,b—i,c—iv,d—ii D) a—i,b—iv,c—ii,d—ii

48. Which of the following statements are incorrect about cultural centres in Kerala ?
i. Kerala Kalamandalam was formed in 1920.
ii. N.V.Krishna Warrier was the first director of Kerala Bhasha Institute.
iii. Kerala Sahitya Academy was officially inaugurated on 15 October 1956.
iv. Kerala Sastra Sahitya Parishad was founded on 10" October 1965.
A) Onlyiandii B) Onlyiiandiii  C) Only iii and iv D) Onlyivandi

49. Which of the following art form is performed to appease the Goddess Bhadrakali ?
A) Mohiniyattam B) Thiraiyattam C) Padayani D) Poorakkali

50. Which city hosted the Artificial Intelligence Safety Summit in February 2025 ?
A) Paris B) San Francisco
C) London D) Delhi

A -20-
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Lesreupeuatoupmled oafls 2 L eSlev OGS wns o et 2 GevnsLd LoHmiLb
2 Cavnsoppeupmlest Filwmest COsrGLIL) 61g 2
A) srev@wib LopHmib g erdggett B) sreb@uwib opmih LimevLigev
C) Q@upiby wpmytb LimevLIge D) smev@uwith opmith FmiLies
@BFwT Cleuctp @eilbLis LISSsBISET GBS LIGTaUBLD FmpDISaich 615/
Filwimesg) ?
i. @BFwT FBISL LISHHD Gleuetp (Lpsev @edlbis aflenemumi’ (B ooLievl” anrss).
ii. 1928 @b @BFWT Hevigy (LS @eOLbLIS FBIGLI LiGEEHS5S0)UTDI).
iii. 2012 @ev eess_eir bLISGHD FSHFT QBB wreyssTs yLiees LNBSTT (LpH6D
sasflpLr @eilblid $EISL LIgESbems Gleusspmi.
iv. 2000 @" sl allibLIE&Hed Gleuarasevl’s Ligdhsb Gleuatp (LpFev @)BF WLt OLicsst
siienTLb Loeb Gevavel g aum.

A) Only i, ii and iii B) Onlyi,iiandiv C) Onlyi,iiiandiv D) All of the above
Lesteu(BLD 6T(LpSSTaTiSemar Yauisefler Lenall OLiwisepL_e1 ClLmBsSa Lb.
a. @i aiGev I L9Cgbgd)
b. M.P. ult g@Mum’ i. aflevr@eut)
c. P.C. gLl uy@mayewnresr iil. s1&HBML_c3T
d. M. K. Guoeresr V. 2 L
A) a—iv, b—iii,c—ii,d =i B) a—ii,b—i,c—iv, d—ii
C) a—iii,b—i,c—iv,d—ii D) a—i,b—iv, c—ii, d —iii

48. Cagerraleh 2 6TarT SUTFFTT OLOWBISET LD LIesTeu(HLD YPlSenFsaflcy 615

SAUDTCES]| ?

i. Gagar sevmwenr_cvib 1920-60 o (heurdsLILIL L .

ii. N.V. @wayewr eurilwii Cager Limawr @)eTavig L L’ 19 65T (LpSHed @)UidEHBbITS
Q@B

iii. Cagar #1HGw yasm_1O 15 5CL_mui 1956 ety G STl iainns
OF AN TR

iv. Gager gmavgy Fn&sw Lfaps 1965 gib yevsr® SCLmui 10 gb CsH)
Blmieuli’ L g).

A) Onlyiandii B) Onlyiiandiii  C) Onlyiii and iv D) Only ivandi
49. ugpsnaf Csalleow F1hsLILIRSS LeTeupLd 6% S auyaid OFLILIBHS DS ?
A) Cur@etlum 1 1b B) Sewpwn b C) wewL_wicwd D) yrdsael
50. geuf 2025 @b QFwmens miesTewIHey LITHSTLL 2 FF WABI L bLSHw
BSILD 61| ?
A) umfav B) gner gnei®evCsim
C) evessrL_air D) Qr_aval)
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51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

Divide 981 in the ratio 5: 4
A) 535 :446 B) 545:436 C) 540: 441 D) 445 :536

The percentage profit earned by selling an article for Rs. 1,920 is equal to the
percentage loss incurred by selling the same article for Rs. 1,280. At what price
should the article be sold to make 25% profit ?

A) 2,000 B) 2,200 C) 2,400 D) 2,600
A can do a piece of work in 4 hours, B and C together can do it in 3 hours, while

A and C together can do it in 2 hours. How long will B alone take to do it ?
A) 8 hours B) 10 hours C) 12 hours D) 24 hours

A can travelling at a speed of 80 km/h can complete a journey in 9 hours. How long
will it take to travel the same distance at 60 km/h ?

A) 10 hours B) 8 hours C) 16 hours D) 12 hours

If in a certain code language, RAIL is written as KCTN, how will READ be written in
this code language ?

A) CGTF B) FTCG C) CTGF D) CFFT

K is the son of M. L is the wife of K. J is the son of L. P is married to M. How is J
related to M ?

A) Father B) Son’s son
C) Husband D) Son

A man walks 5 km towards south and then turns to the right. After walking 3 km he turns
to the left and walks 5 km. Now in which direction is he from the starting place ?

A) West B) South C) North-East D) South-West
. . 1 -2 1 -2 1 -2
Simplify (Ej +(§J +(Zj
13 3
A) 12 B) 9 C) 29 D) 12
2.39)° —(1.61)°
Calculate ( ) -(1.61) :
2.39-1.61
A) 2 B) 4 C) 6 D) 8

What will be the next number in the sequence 36, 34, 30, 28, 24,...
A) 20 B) 22 C) 23 D) 26
-22-
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981-2 5 : 4 e16t1p @I1FF5F0 aGIHBa LD,

A) 535 : 446 B) 545:436 C) 540 : 441 D) 445 :536
@b Gurmener ep.192085@ aIDDS6T epevib HevL_d@Lb L FsaisLoneais, Gz
Qunmmenar er.12808@ allppset epevid epLIBILD @)LpLiL] F56555FD&HF Foib. 25%

LD L L bl Cummener 61h% alaewsdd allns Geuer(hLb ?

A) en. 2,000 B) ep. 2,200 C) em. 2,400 D) em. 2,600

A @ Cauemevenw 4 wewfl CrrsHev Qi wpryujib; B wpmib C Q) eventig 9
3 wewfl CrrgHev Gl wprgujb, 9G% CrrsFev A wopmib C Qenentis s
2 wewfl Crus@e OFuiw wpigujb. B il Qb yewsd Geuivu ereieuere) GmLb
e1(h%H@GHLD ?

A) 8 ewfl GrpyLb B) 10 wewfl Cpyb C) 12 wewfl Crpb D) 24 wewfl Cryib
wensfld@ 80 &.15. CousdFev Liwenfld@b e ST Iwent] CHIsHev (h LILIGHISS
Ly ds (plgujb. 9Gs &Misems wewfld@ 60 &.15. CoussFev Liwenllds 6T6icarey
Gpob 9@ Lb ?

A) 10 wenflGpLb B) 8 wenflGryb  C) 16 wenflGrub D) 12 wewllGryib
@b @GP L ol B Cwmfuied, RAIL ereirig KCTN erewr erpsiinil L meb,
@5 @GP B Gwmfluier READ eraiaummy erpsliLipib

A) CGTF B) FTCG C) CTGF D) CFFT
Keretrg/M @)eir waeir ‘Lereirg ‘K @er wenerall. S ereirug ‘L @)t oseir.
‘P erastieui ‘M @0 wessipg . 'J eretrigy ‘Mo 16t ereiieummy GFmL_ijeoL_wigy ?

A) sihas B) wsesflesr Losaeir

C) sewraui D) wsesr

R Loesls6sT Clen@ Crns® 5 &).165. Lk ClFesiny L6 auevgiLpLD HHLOLFDT6HT.
3 .15 pLps L9DE deuest QL gLpid Fpbld 5 &.16. pLs&Hpresr. @QUiCLITg
<euet OBML_ds QL SHSBhGI 615 HaFuiled ()(5%H DT 2

A) Cup B) Gsn@ C) L RpsH D) QserGom
N2 1Y (1)?
—| +|=| +| = eTaMeLoL1LI(H &S LD.
@ [sj @ “ pen
13 3
A) ) B) 9 C) 29 D) 12
(2.39) —(1.61° | ,
239 161 CorOHds.
A) 2 B) 4 C) 6 D) 8

36, 34, 30, 28, 24,... eretip euflenFuilled 2(hSF 6TewT GTGHITTSH ()(hdHEGHLD ?
A) 20 B) 22 C) 23 D) 26
.23.
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61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

Identify the error in the following sentence.
One of the girls are from Mumbai.

A) qirls B) are C) the D) from
Complete the sentence using the appropriate tag.

Don’t come in front of me, ?

A) Can you B) Shall you C) Would you D) Will you

Identify the type of the verb in italics in the following sentence.
You let her go

A) Bare infinitive B) Gerund
C) To infinitive D) Present participle

Correct the following sentence by choosing the right option.
Neither the Principal nor the teachers is going for the tour.

A) Will going B) Goes C) Are going D) Has gone

Seeing a snake in the garden Lalu screamed for help. This sentence may be
transformed as

A) Lalu saw a snake in the garden when he screamed for help

B) He screamed for help and saw a snake

C) Lalu was screaming for help when seeing a snake in the garden

D) When he saw a snake in the garden Lalu screamed for help

The italicized word in the following sentence means

As a teacher, she resented invidious remarks made on her students by her
colleagues.

A) Personal B) Cruel C) Sarcastic D) Unpleasant

The idiom in the following sentence means
Perfumes were dime a dozen for him in those days.

A) Rarity B) Plenty and common
C) Precious and valuable D) Expensive

| bank on your word. The phrasal verb in italics means
A) Spends on something or someone

B) Collects money from someone

C) Bases one’s hope on something or someone

D) Spreads something

Correct the following sentence.

The affects of Covid 19 are far reaching.

A) The effects of covid 19 is far reaching. B) The effects of covid 19 are far reaching.
C) The affect of covid 19 is far reaching. D) The affects of covid 19 is far reaching.

His behavior at the party was atrocious. The synonym for the italicized word is
A) Attractive B) Appalling C) Supportive D) Compassionate
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74.

75

76.

77.

78.

79.
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957 auflensliLig CFnphaeers Fiblsuis.

A) epmuilny, S T0u6sT, Fb% T6T, S Bis%eT B) s&geuctt, 6@ 0681, GBiser, @pmuilm
C) s@yeuett, S etr, ehmuilmi, HEiser D) #n&gest, Fmiser, @pmuilmy, &5 geies
QFnpseer @pBIGLBSD CFTHODTLT 9d 5.

A) 9p@wed Ywib FPoIGLD LIewnLpdCH s @

B) WewipsdCariid@ Fmpma@Lb rfluwed ymLb

C) <rfwed KevpdCsmidE FpOIGHLD 9mLD

D) wrfwed 9enpdCamid@® SYwLb FmPdmIE@LD

< BIFF ClFTOIS S HlHITeT SLOPTEHLD F([Hs.

Foxes bark, Yelp

A) B geremerul(hFesDG)

B) milser geremarul)(h @ esimet

C) @erarpsfasepid, plsesb 2arenarud(hFemest

D) milser ol Bib 2eremerud(H)SFesimest

@en_ulerib ereitayyd O)FTOSS)GHT Y BIHVTHBLD & (5%,

A) Hard Consonants B) Soft Consonants

C) Center Consonants D) Medial Consonants

. Do as you would be done by eretieniib 9y mi&levs CFmevapid@ Hlsames LipOLompleniid s(ms.

A) weitesyuilenss sestenuili CGuimed Blenest

B) weenuiens o wiieuns plevesdss Goue(hLb

C) sereyyuieny Locreyuilgns @ das Cauetst(h)Lb

D) wetienyuflenguyid, sesteniuilenguib o wiicunss %ms Geuer(phLb

‘oufl1d’ ClLmBeT s,

A) us B) ergpewio C) a4® D) wmemewr

1RTF0FT) (.
BHEEVHH6V X

A) 9M%z 60 B) <ailipssed C) Gaiggev D) sooevdsns mssed
LfSS 6T(LpSI%.

LiauerGlaumerd

A) weuertd + gparl B) weuer + gafl

C) weuerib + el D) weuer + Qaeumed

FHEIGHTGAITE HYeopssLiLi GL_er @F0FnGlpm_Med eupgieier Coupmiento 2 (HLienewrs:
N

A) @uoesr_mib Caupmyenio 2 (pLy B) epeipmib Coupmiewio o Ly
C) gewmb Coupmienio o (L] D) @uoesw®ib epeiimyib Coupmiewio o (pLy
@60 Coumyim_pPlbg FAwTeT Q)enewtenil 6T(LPSHI%.
A) 1. el — unens B) 1. aual — auadlenio
2. cuall — sIHMI 2. oualfl — LITe®S
3. aufl — auedlewio 3. aufl — sTHDI
C) 1. aual) — euallewip D) 1. aual — sammy
2. cuall — sAHMI 2. cualfl — euallewio
3. el — e 3. aufl — urews
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81. Which of the following memories in a computer is faster ?
A) RAM
B) ROM
C) Magnetic Storage Device

D) Internal Process Memory

82. Which of the following is a key benefit of using OCR (Optical Character Recognition) in
document processing ?

A) It can automatically detect and count multiple-choice answers on a form

B) It enables machines to read and convert printed or handwritten text into editable
digital format

C) It uses magnetic ink to recognize bank account numbers on checks

D) It allows for the automatic reading of QR codes for storing web links

83. Which of the following is the most likely application of a supercomputer ?
A) Managing personal emails and web browsing
B) Controlling embedded systems in consumer electronics like smartphones

C) Running large-scale simulations for scientific research, such as weather forecasting
or particle physics

D) Performing word processing and creating presentations for office work

84. translates the messages of the software and hardware into a common

compatible form to make them communicate successfully.
A) Programming software B) Application software

C) System software D) Administrative software

85. What is the octal number for the decimal number 2025 ?
A) 3751 B) 1573
C) 1753 D) 1357
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86. Which of the following keyboard shortcuts in Microsoft Word 2021 allows you to
toggle the visibility of non-printing characters (such as spaces, paragraph marks,
and tab symbols) ?

A) Ctrl + Shift+8  B) Alt+ F1 C) Ctrl+ Alt+P D) Shift + F12

87. Which of the following options is not found under the Insert menu in Microsoft
Word ?

A) Table B) Header C) Shape D) Styles

88. What does the VLOOKUP function in Excel do ?
A) It searches for a value in a range and sums all values in the row that match
B) It calculates the average of values that meet a certain condition

C) It searches for a value in a table and returns a corresponding value from the
same row

D) It combines multiple values from different cells into one cell

89. Which keyboard shortcut in Excel is used to quickly insert a new worksheet in the
current workbook ?

A) Ctrl + Shift + N
B) Shift + F11

C) At +W +N

D) Ctrl + Alt + W

90. Which of the following actions is not performed through the Insert tab in PowerPoint ?
A) Insert a table
B) Insert an image from a file
C) Insert a new slide layout

D) Insert a hyperlink
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91. What is an abstract class in OOP ?
A) A class that does not have any constructors
B) A class that can only have static methods
C) A class that cannot be instantiated and is designed to be subclassed

D) A class that contains only concrete methods

92. What is the significance of using int as the return type of the main() function ?
A) It indicates that the program outputs an integer to the console
B) It ensures compatibility with the operating system’s expectations
C) ltis a placeholder and can be replaced with float or void

D) It specifies the program’s execution speed

93. What is a common characteristic of event-driven programming ?
A) It executes code in a sequential manner
B) It waits for user actions or events to execute code
C) It cannot handle multiple events simultaneously

D) It does not use graphical user interfaces

94. What is the purpose of the Imports statement in VB.NET ?
A) To include namespaces
B) To import external libraries dynamically
C) To declare variables globally

D) To define methods in a class

95. Which of the following are advantages of DBMS ?
A) Reduced data redundancy
B) Improved data security
C) Easier data access and sharing

D) All of these
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96. What is the difference between DELETE and TRUNCATE in SQL ?
A) DELETE removes all rows, while TRUNCATE removes specific rows

B) TRUNCATE removes all rows and cannot be rolled back, while DELETE can be
rolled back

C) DELETE is faster than TRUNCATE

D) None of these

97. Which SQL command is used to remove a table from the database ?
A) DROP TABLE B) DELETE TABLE
C) TRUNCATE TABLE D) REMOVE TABLE

98. What is the role of CSS in web development ?
A) To create interactive web pages
B) To define the layout and style of a web page
C) To manage the content of a website

D) To enhance the security of a website

99. Which HTML tag is used to display an image ?
A) <img> B) <image>

C) <src> D) <picture>

100. Which looping statement is guaranteed to execute atleast once in JavaScript ?
A) for B) while
C) do...while D) None of these
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